1.

You are given a couple of bags of ferrous iodide, 
Anode:
[image: image1.png]2H;0 = Oy +4H* +4e” (E' = —0.82V
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Cathode:
[image: image3.png]2H' + 2" < Hy ;E=-041V




[image: image4.png]2H,0(1) +2¢” < Hy(g) + 20H (aq) ; E° = - 083V




[image: image5.png]Fe'* = Fe + 2 ;E' = —0.44V




You look at the reactions and decide on your course of action. What do you decide to do and why?
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	[image: image6.wmf]
You decide to do electrolysis on the molten salt because it is the only possible way to do it. You couldn't get any iron metal from doing electrolysis in aqueous solution.
[image: image7.wmf]
You decide to do the electrolysis in aqueous solution because the reduction potentials are close enough to favor the deposition of iron metal on the cathode instead of the production of hydrogen gas.
[image: image8.wmf]
You decide to do electrolysis of the molten salt because the reduction potentials for water make the reactions in aqueous solution favor the production of hydrogen and oxygen gases.
[image: image9.wmf]
You do the electrolysis in the aqueous solution because ferrous iodide is explosive.

	
	


2.  


From the previous question, calculate the overall reduction potential of the entire reaction [image: image10.png]Fely = 2Fe + I



, using the given reduction potentials.
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